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Part I: Vocabulary

A: Write a suitable word for each definition. ( 1 pt)

1. A large group of people who live together

2. Someone who is physically unable to hear anything or unable to hear well
3. An amount of food or drink that is enough for one person

4. The way in which two or more people feel and behave towards each other

B: Fill in the blanks with the given words. (one extra)(2pts)

@ables —region- sigh— pyramid- differences>

5. Researchers found a number of important.......................... in the way boys and girls learn.
6. Oils and candies have more calories but less nutritional value in the food....................... .

7. Online banking ........................

people to have access to their accounts 24 hours a day.

8. Unfortunately, I had sharp painsinthe......................ocooiiinnil of the heart yesterday.
C: Choose the best option. (1pt)
9. Try to avoid foods which...................... a lot of fat.
a. cause b. harm C. contain d. prefer
10. Psychologists believe that wrong ........... are easy to form but hard to break.
a. ideas b. hints c. habits d. details
11. The teacher wants his students to feel....................... about their English.
a. cultural b. confident c. available d. absolute
12. Women ................... only a small proportion of the prison population.
a. keep off b. hang out C. give up d. make up
Part Il: Grammar
A: Choose the best option. (2pts)
13. TWO. .o, ofjamand five ...................... of bread are enough for 10 people.
a. jar, loaf b. jars, loaves c. jars, loaf d. jar, loaves
14, HOW....ooiiiiines times did you take your driving test?
a. much b. a lot C. many d. lots
15. Human’s ability to talk makes him different .................... animals.
a. of b. at c. by d. from




16, oo of people were watching the football match last Monday.

a. Hundred of million b. Hundreds of million

c. Hundreds of millions d. Hundred of millions
B: Read the sentences carefully and find 4 grammatical errors, then write the correct forms. (2pts)
17. The modern lifestyle has had much effects on people’s lives.  error.................. correct form.........ccceene.
18. Repairing the car cost us sixty dollar. error.....cccvvenene. correct form.........ccceene.
19. We ate a lot of chickens for dinner last night. error ....ccvevvenene. correct form...................
20. There was not many traffic on the roads. [Tq (o] CURNIURR correct form.........ccocue...

Part I11: Writing

A: Unscramble the following sentences. (2pts)
21. has, she, class, two, classmates, in, thirty, her, English.

22. your, information, work, much, need, for, how, you, do?

B: Write the appropriate form of the words in parentheses. (2pts)

23. One of my best friends ...........c.ccccvennee. Mr. Rahimipoor. (to be)

24. Theoldman .......................... down the stairs and broke his arm. (to fall)
25. My brother can speak French.................... . (fluent)

26. Technology may Cause...........ccccverveevenenn and serious problems. (to depress)

C: Read the following sentence. Find the subject, verbs, and object. (2pts)
27. The old man is eating lunch fast.

D: Find the additional information(adverbs) in the following sentence. (2 pts)
28. My friends always takes photographs of animals beautifully in nature on Fridays.

Part 1V: Reading Comprehension

A: Reading one. Read the passage and choose the best option. (4pts)

An endangered language is one that is likely to become extinct in the near future. Many languages are falling
out of use and being replaced by others that are more widely used in the region or nation, such as English in the
U.S. or Spanish in Mexico. Unless current trends are reversed, these endangered languages will become extinct
within the next century. Many other languages are no longer being learned by new generations of children or
by new adult speakers; these languages will become extinct when their last speaker dies. In fact, dozens of
languages today have only one native speaker still living, and that person's death will mean the extinction of
the language: 1t will no longer be spoken or known by anyone.




29. Which of the following statements is true according to the passage?
a. A few languages are falling out of use and being replaced by others.
b. Dozens of languages have only one native speaker.
c. One language won’t become extinct.
d. All languages will die out within the next century.
30. The passage provides enough information to answer which of the following questions?
a. What does an endangered language mean?
b. How can new adult speakers help new generations to learn some languages?
¢. What is the oldest language in the world?
d. Which language has the most native speakers?
31. The underlined word “widely” in line 2 is closest in meaning to................ .

a. certainly b. greatly C. honestly d. interestingly
32. The word “it” in the last line refers to............. :
a. language b. speaker c. extinction d. death

B: Reading two. Read the passage and answer the following questions. (4pts)

Even when asleep, the body needs energy. The more active a person is, the more energy the body uses. The
energy comes from the chemical “burning” of carbohydrates, fats, proteins, and certain other substances such
as alcohol.

The energy values of different foods can be measured by burning them in a special small oven called a
calorimeter. Energy in food is often measured in calories. One kilocalorie, usually written as kcal or calorie
(with a capital C), is the amount of energy required to raise the temperature of one kilogram of water by 1°
Celsius. In fact, the Calorie is a unit of heat, not energy. In the modern system of measurements, energy is
measured in joules. (1 Calorie equals 4.2 kilojoules.) You can find the calorie content of almost any food by
looking in a slimming magazine or book.

An adult needs, on average, a little under 3000 Calories a day. A manual worker would need 4000 or more,
because of the energy used up in physical activity. Children, who are growing and also very active, need extra
Calories as well. As people become older they need fewer Calories, partly because they are physically less
active and partly because some of their body tissues become chemically less active.

33. What does one kilocalorie mean?

35. Calorie is actually a unit of energy. a. true b. false
36. Old people need fewer Calories than manual workers. a. true b. false
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A: Write a suitable word for each definition. ( 1 pt)
1. 2. 3. 4.

B: Fill in the blanks with the given words. (one extra)(2pts)
5. 6. 7. 8.

C: Choose the best option. (1pt)
9.( ) 10. () 11.( ) 12.( )

A: Choose the best option. (2pts)
13.( ) 14.( ) 15.( ) 16.( )

B: Read the sentences carefully and find 4 grammatical errors, then write the correct forms. (2pts)

17.error ..o correct form..........co.oenl. 18.€error.....c.covviiieenn correct form..........ccoceeeeennnne.
19.eror................... correctform...................... PLURES 3 (o) SO correct form........................
A: Unscramble the following sentences. (2pts)

2 TSSOSO :

T TP P TP P PSPPSR ?

B: Write the appropriate form of the words in parentheses. (2pts)
23. 24, 25. 26.

C: Read the following sentence. Find the subject, verbs, and object. (2pts)
27.8ubjeCt....ooiiiiiiie e S {0 T U ITRURRITI's | o] [+ ¢ SRR

D: Find additional information in the following sentence. (2 pts)

28 i




A: PASSAGE 1: Read the passage and choose the best option. (4pts)

29.( ) 30.( ) 3L.( ) 32.( )

B: PASSAGE 2 : Read the passage and answer the following questions. (4pts)




